Is the sequence geometric? If so, find the common ratio and the next fwo

1.1,2,4,8,... 2.1,2,3,4,...

3 1?"/—\;,\;‘,-—8,... &, —1,L, ~Fid s

5.10,4,1.6,0.64,. .. 6.7,0.7, 007 0.007, ...

7.18, —6,2,—%,. .. 8.13,3.7, 8

9. 10,15,22.5,33.75, . . . 10. 2, —10,50, =250, . . - 8
11

11. —1, -6, =36, 216, . .. 123,111 {_5(7 O

Write the explicit formula for each sequence. Then generate the first five terms. V\/\/ @9&‘

13&1—5?'——' 1401—002371'—10 15!11 2:-"_‘§
16.a; = 1,r = 0.5 17. a; = 100, = —20 18.a;=7,r=1
19. a; = 1024,r = 0.5 20. ay = 4,r = 0.1 2L.ay=10,r= -1

Find the missing term of each geometric sequence. It could be the geometric mean
or its opposite.

22.5,6,911.25, ... 23. 9180, B2, 255, . .. 4.2m L. ..
25.3,8,0.75,. . . 26. 5, 1, 2.8125, . . . 27.12,E,3,.. .

Identify each sequence as arithmetic, geomeiric, or neither. Then find the
next two terms.

28. 45,90, 180, 360, . . . 29. 25, 50,75,100,. .. 30. 3,3, 3, =3, .
31. 30,35,40,45,... 32. —5,10, —20,40,... 33.2,1,0.5,025,...
34.5,6,8,11,15,... 38,2,2,2,2;. v 36.1,4,9,16,...

For the geometric sequence 3,12, 48,192, ..., find the indicated term.
42, 5th term 43, 7th term 44, 10th term
45, 14th term 46. 17th term 47, nth term

Find the 10th term of each geometric sequence.
48.ag=8,r=1% 49.a,=8,r=3%
50. ag= —5,r = —3 51.a = =5,r=—%



